node1
192.168.1.11
08:00:27:67:54:d1

ping 192.168.1.12

ARP Request: ...1.12?

Eth: Src=...54:d1, Dst=...ff:ff
n

node2
192.168.1.12
08:00:27:¢5:9f:e9

node3
192.168.1.13
08:00:27:84:b2:62

ARP Reply: ...9f:e9
Eth: Src=...9f:e9, Dst=...54:d1

-

ICMP Echo Request
IP: Src= ...1.66 , Dst=...1.12
Eth: Src=...54:d1, Dst=...9f:e9

ARP Request: ...1.667?
Eth: Src=...9f:e9, Dst=...ff:ff
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ARP Request: ...1.667?
Eth: Src=...9f:e9, Dst=...ff:ff
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ICMP Echo Request
IP: Src= ...1.66 , Dst=...1.12
Eth: Src=...54:d1, Dst=...9f:e9

ARP Request: ...1.667
Eth: Src=...9f:e9, Dst=...ff:ff
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